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QUESTION 1

Which of the following statements regarding ATP checks in SAP ECC that are triggered from customer orders is
correct? 

A. An ATP check creates fixed links between customer orders and their confirmed receipts. 

B. The ATP check does not take stocks and receipts into account. It checks consumption of planned independent
requirements. 

C. If the ATP check determines non-availability. It then checks in the next step whether it is possible to procure or
produce in time. 

D. The ATP quantity is the available quantity, which can be used to confirm incoming customer orders. 

Correct Answer: C 

 

QUESTION 2

Which of the following statements about the planning functions available in SAP ECC is correct? 

A. Master production scheduling (MPS) refers to preferred planning of important materials. 

B. Material requirements planning (MRP) includes automatic capacity leveling. 

C. Long-term planning (LTP) is a long-term form of forecast planning. 

D. In demand management (DM) material shortage situations are identified and corresponding receipt elements are
created. 

Correct Answer: A 

 

QUESTION 3

Which statements regarding SAP ECC long-term planning (LTP) are correct? (Choose two) 

A. In case of external procurement, LTP creates purchase requisitions. 

B. Reorder point planned materials can be included in LTP. 

C. Generally, LTP is operational planning of important components. 

D. A planning scenario must be released to use it in LTP. 

Correct Answer: BD 

 

QUESTION 4

Which of the following consequences result when a production order is set to Technically Complete (TECO)? (Choose
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three) 

A. Confirmations are no longer permitted. 

B. Reservations are no longer relevant for material requirements planning. 

C. The order and its operations receive the system status Locked (LKD). 

D. Capacity requirements are set to null. 

E. The order is no longer relevant for material requirements planning. 

Correct Answer: BDE 

 

QUESTION 5

Which objects can affect the calculation of capacity requirements for an operation? (Choose three) 

A. Standard values (routing) 

B. Transport time (routing) 

C. Operation control key (routing) 

D. Formulas (work center) 

E. In-house production time (material master) 

Correct Answer: ACD 
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